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LINGUISTICS

Paper - 11

marks. Attempt all the questions.

Assertion (1) : Ferdinand de
Saussure claims that historical
studies of language are
worthless.

Assertion (2) : He suggests
synchronic language studies
aimed at describing a language
as a whole at a particular point
in time.

(A) Both (1) & (2) are true.

(B) Both (1) and (2) are false.

(©) (1)istrue, (2) is false.

(D) (1)is false, (2) is true.

A group of words that share certain
grammatical properties, such as the
kinds of affixes they take and the
kinds of syntactic constructions they
occur in is traditionally called as

(A) matrix sentence

(B) parts of speech

(C) lexical category

(D) node

In the sentence “Ram ran fast”, the
word “fast” is an

(A) irregular verb

(B) auxiliary

(C) adverb

(D) ordinary verb

In a large number of languages nouns
and pronouns are inflected to show
the relations they bear in a particular
sentence in relation to a verb. This is
called

(A) agreement

(B) case inflection

(C) harmony

(D) none of the above

An expression like “How are you” ?
is an example of

(A) referential function

(B) emotive function

(C) magical function

(D) phatic function

Paper-11

6.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Assertion (1) : Contrast is a term
used in linguistics for a
difference between units, and
the differences thus obtained
are referred to as distinctive.

Assertion (2) : Complementary
distribution refers to the mutual
exclusiveness of a pair of
sounds or units in a certain
environment.

(A) (1) and (2) are used in

discovery of phonemes.

B) (1) and (2) are used in
discovery of morphemes.

(C) (1) is used in discovery of
phonemes and (2) in
discovery of morphemes.

D) (1) and (2) are used in
discovery of phonemes and
morphemes.

Assertion (1) : Morphology is
concerned with the internal
composition of a word.

Assertion (2) : Syntax is
concerned with the
combination of words.

(A) (1)is false (2) is true.

(B) (1) istrue (2) is true.

(©) (1)istrue, (2)is false.

(D) (1) is false, (2) is false.

Match the items in List — I with
List — IT and select the correct answer
from the codes given below :

List -1 List — 11
(a) construction (i) instrumental
(b) function (i1) restricted

(c) case (ii1) endocentric
(d) code (iv) emotive
Code :

@ (b (© (@

Ay @@ @@ () (@1v)

(B) @G (i)  Gv) (1)

©) @) @Gv) @@ (G

O Gv)y @ @) (i)
D-31-10
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10.

11.

Match the items of List — I with
List — IT and select the correct answer
from the codes given below :

List -1 List — II

(a) universals (i) vowel

(b) relations (i) exocentric

(c) constructions (iii) paradigmatic

(d) harmony (iv) substantive

Code :

@ (b () (d)

A 1 @) (@) (av)

B) (Gv) @) @>G) @)

© ) av) (@ (1)

(D) @) @G  Gv) (D)

The motivation for the nativist

position is found in the assertion that

(Note : Mark the correct answer)

(A) Language acquisition is best
represented as the learning of
individual words and patterns
which take place in the world.

(B) The principles and systems
involved in grammars are so
abstract and complex that
they could not possibly be
learned, given any coherent
theory of learning.

(C) There is no highly specific
and autonomous language
faculty at all, but instead
language arises from the
interaction of quite general
cognitive processes.

(D) The innate structure, while
necessary are quite general.

Match the items in List — [ with the
items in List — II and select the correct
codes from those given below :

List -1 List — 11
(a) x (i) palatal
(b) 1 (i1) fricative
(c) B (1i1) approximant
(d L (iv) ejective
Codes :

(@ ® (© @
A Gv) @ (@) (i)
B) (@) (@) (Gv) (i)
©) @) @Gv) () ()
D Gv) @) G @)

Paper-11

12.

13.

14.

15.

Assertion (1) : The feature
[+ cons] implies [+ obs]
Assertion (2) : The feature

[+ obs] implies [ + cons]
(A) Both (1) and (2) are true.
(B) (1) is true but (2) is false.
(C) (1)is false but (2) is true.
(D) Both (1) and (2) are false.

Assertion (1) : Morphemes  are
meaningful units.

Assertion (2) : Syllables are
meaningless units.

(A) (1)is true but (2) is false.
(B) (1) is false but (2) is true.
(C) Both (1) and (2) are true.
(D) Both (1) and (2) are false.

Apocope is different from syncope in
the sense that

(A) Apocope before

syncope

applies

(B) Apocope applies word finally
while syncope applies word-

medially

(C) Apocope applies word
medially  while  syncope
applies word finally

(D) Apocope applies word
initially  while syncope
applies word finally.

ATR stands for

(A) Alternative  Transformation
Rule

(B) Advanced Tongue Root

(C) Alternative Tree
Representation

(D) Advanced Tongue Raising
D-31-10
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12.

13.

14.

15.
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16.

17.

18.

A zero-morpheme is different from

an empty morpheme in the sense that

(A) both the zero and empty
morpheme have form but no
meaning.

(B) both the zero and empty
morpheme have meaning but
no form.

(C) the zero morpheme has form
and the empty morpheme has
meaning.

(D) the =zero morpheme has

meaning and the empty
morpheme has form.

Modality is

(A) Speaker’s attitude towards the
event.

(B) A combination of tense and
aspect.

(C) A combination of tense and
voice.

(D) The style of speaking.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List — II
(a) Palatography (i) Study of
waveform

(b) Spectrography (ii) Study of
voice pattern

(c) Laryngography (iii) Study of
place of
articulation

(d) Oscillography (iv) Format
patterns  of
vowels

Codes :

i Gy i) @Gv)
A @ ® (© (@
B @ © (@ (@
© @ (@© b @
M © » @ @

19.

20.

21.

Assertion (1) : The waveforms of
voiced fricatives are both
periodic and aperiodic.

Assertion (2) : Voiced fricatives
are at the same time vocalic
and consonantal.

(A) Both (1) and (2) are true.

(B) Both (1) and (2) are false.
(C) (1)is true but (2) is false.
(D)  (2)is true but (1) is false.

“Sandhi” is a term which refers to

(A) purely morphological
modification

(B) purely phonological
modification

(C) the phonological
modifications of grammatical
forms

(D) purely optional phonological
modification

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List - II
(a) Saussurian (i) Collocation,
colligation
(b) Chomskian (i1) Order,
selection

(c) Firthian (iii) Projection,
movement
(d) Bloomfieldian (iv) Syntagmatic,
paradigmatic
Codes :
@ b © @
(A) (v) (@) @ (@)
B) av) @@ @) (@)
© @ ) (@) @Gv)
D) ay G@v) @ ()
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22,

23.

24.

Assertion (1) : Constituents of a
construction are called
“Immediate Constituents”.

Assertion (2) : Since they are
linear they are called so.

(A) (1)istrue (2) is false.

(B) (1)is false (2) is true.

(C) Both (1) and (2) are true.

(D) Both (1) and (2) are false.

The “Deep Structure” of a sentence,

according to ‘“Aspects” model of

Chomsky, has certain features. Find

out a feature that is not useful in

deciding the Deep Structure.

(A) Deep structure is obtained
after applying PS Rules and
Lexical Insertion Rules.

(B) Deep structure is the one
which is responsible for
semantic interpretation.

(C) Deep structure is the one used
for determining subject of,
object of relationships of

phrases.

(D) Deep structure is obtained
after applying
Morphophonemic Rules.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List - I List - II
(i) Syntactic (1) subject to
structure subject,
framework subject to
object
(i1) Aspects (2) NP movement,
framework Move o
(ii1) Post-Aspects (3) Singularly,
framework generalized
(iv) GB- (4) Pronominaliza-
framework tion,
Relativisation
Codes :

»H Gy (i) Gv)
A @ @GO 2 3
B @ @O @ O
<© & @ @O @
® @ & @& @
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25.

26.

27.

28.

29.

From the following identify the set
which is not a meronym :

(A) House, roof
(B) Cup, saucer
(C) Body, arm

(D) Book, page

Identify the set which contains
propositional attitude verbs only.

(A) think, believe, hope, wish
(B) run, go, eat, play
(C) be, have, can, may

(D) dissolve,
disclose

dismiss, display,

The expressions :
(a) cobra, snake, reptile

(b) spaniel, dog, animal are

examples of
(A) Antonymy
(B) Homonymy
(C) Synonymy
(D)  Hyponymy

Cleft sentence formation is used as a
test for identifying

(A) Noun phrases

(B) Preposition phrases
(C) Verb phrases

(D) Adverb phrases

“Projection principle” used in syntax is
(A) To serialize case forms with
verbs.

(B) To derive syntactic form from
lexical subcategorization.

(C©) To move N, VI, V, P
categories from one place to
another

(D) To get logical form from
grammatical form.

D-31-10
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30.

31.

32.

33.

34.

The condition which must be
satisfied if a particular state of affairs
is to obtain, or what a speaker
assumes in saying a particular
sentence is called

(A) entailment

(B) truth value

(C) presupposition

(D) illocutionary force

Among Dravidian languages the
following language is spoken outside
India :

(A) Kolami (B) Brahui
(C) Gondi (D) Tulu
Languages  belonging to  the

language families are
agglutinative in nature
(A) Dravidian, Indo Aryan,
Munda, Tibeto Burman

(B) Dravidian, Munda, Tibeto
Burman

(C) Dravidian, Indo Aryan,
Munda

(D) Tibeto Burman, Munda, Indo
Aryan

The process of segment deletion in
the word final position is known as

(A) Syncope
(B) Prothesis
(C) Apocope
(D) Haplology

A pidgin becomes a Creole when

(A) It becomes mothertongue of
the next generation.

(B) It becomes the official
language of the community.

(C) It becomes the medium of
instruction in education.

(D) It becomes a standard
language.

Paper-11
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36.

37.

38.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List — 11
(a) Neo- (i) Wave theory
grammarians hypothesis
(b) August (i) Regularity of
Schleicher sound change
(¢) Johannes (iii) Dialect  Atlas
Schmidt of New
England
(d) Hanskurath  (iv) Family tree
model

Codes :
@ b (© (@
(A) ) av) (@O (i)
B) @Gv) @) @G) @)
©) @) av) (@ (D)
D) aGv) Gy (@) (i)
Native word is used to express the
concept foreign to the native
language. It is known as
(A) Loan Word
(B) Loan Shift
(C) Loan Blend
(D) Loan Extension

Extensions made from inflected or
derived rather than from base forms
are known as .

(A) Folk Etymology

(B) Back formation

(C) Contamination

(D) Analogical levelling

Assertion (1) : Language  areas
generally center about a point
which is touched by relatively
few isoglosses. Such points,
areas of prestige are called
focal areas.

Reason (2) : Innovations
transmitted from them are
accepted by surrounding areas
as far as the prestige of the
focal area extends.

(A) Both (1) and (2) are true.

B) (1)is true (2) is false.

(C) (1) and (2) both are false.

(D) (2)is true but (1) is false.
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30.

31.

32.

33.

34.

Iie g foeiy fafq ura ot €, st
g TR 9T et GHT e ST P
O AT &, 39 Fed &

(A) T

(B) 9IarHEA

(C) =T

(D) SRR ®IE

giere 9roned & 3fed i @ 9Rd &
TR et STt e ?

(A) i
(B) wgE
(C) TiEl
(D) T

T-TRER s 9T i TR
AMMAF T |
(A) wfe, Sei-a1e, Her, foead-aw
(B) wfg, Hel, feresieft-arf
(C) 3fae, TEr-am, T
(D) Tosct-ard, ger, get-31ma

IIET H GE-cATT-UshaT i e ©
(A) A

(B) aigHfeld

(C) ety

(D) HHIER &9

TUfsm 39 9= fohaier &t STt &, ST 38

(A) ITTCA Uigh b AIGHIST & STt & |

(B) W TR i IISTHIST & ST & |

(C)  Toretr-wre & foretr <t wvesr &t et
g

(D) HIeh WIS &l Sl & |
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36.

37.

38.

it — 1 < 77g w=d o g — 11 4 fer
FITT 3R el T T el § 9 T S
EiLE

(b) ST TARIR
(c) Siemw fora

(d) &I

T :

@ b  (© @
A) () @Gv) @) (i)
B) (Gv) Gi) G @)
(©) (i) @Gv) @) (D)
D) @Gv) @Gy G (i)

YT I T TN ST AT % FqEA
foReT o1 BTN W e FA o
fFaI ST e 13 Fed &

(A) RUTTIS

(B) 0T TIHICROT

(C) ot frvsroy

(D) 7 foaar

AR ® W 37uen fawle sreen
Fﬁra@i@wf&wﬁﬁww

(A) @AM
(B) @TE¥IHCTsh S
©)

(D) TTGYIHETH THEILIHOT

AfHYT (1) : 9WE &9 9=d: o
fagaﬁrrfraﬁxé%%a%ﬁ% S
dqifa T
@Hﬁ@aﬁwm@rmb
b (2) : 3T YR SIHEATE TR 3R
% & H, aawﬁﬁ%aﬁﬁ
yfTsr o foedR g &, Wi &t
A E | o
(1) 3R (2) TN TAE |
(1) & & &R (2) 39T |
(1) 3R (2) T ST E |
(2) §a &, fefg (1) 379 |

(A)
(B)
(©)
(D)
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39.

40.

41.

42.

43.

In the method of Internal
Reconstruction 1s taken as
basis to reconstruct the earlier form.
(A) Morphological System

(B) Phonological System

(C) Morphophonemic alternants
(D) Morphology and phonology

The Indian Subcontinent is inhabited

by a very large population who speak

languages belonging to the following

language families.

(A) Celtic, Armenian, Dravidian,
Indo Aryan

(B) Germanic, Celtic, Dravidian,
Indo Aryan

(C) Dravidian, Indo Aryan, Austro
Asiatic, Tibeto Burman

(D) Italic, Baltic, Dravidian,
Munda

Communication between different
groups especially those which are
socially, ethnically or linguistically
different is

(A) Intra group Communication

(B) Intergroup Communication
(C) Linguistic Communication
(D) Mass Communication

A succession of speech varieties
without well defined linguistic
boundaries is known as

(A) Dialect continuum

(B) Register

(C) Sociolect

(D) Regional dialect

Arrange the following in order in
which they appeared.

(1)  Cognitive method

(i) Pattern practice method

(iii) Communicative approach

(iv) Grammar translation method
Codes :

@ (@ () ()
A) 1 ) (@) (av)
B) Gv) ) (@ (i)
© @@y a @ av)
D) @Gv) ) (i) @)
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44.

45.

Assertion (1) : In translation both
source and target language
texts communicate the same
message.

Assertion (2) : A language may
contain expressions which refer
to concepts that do not exist in
another language.

(A) (1)is false (2) is true.

B) (1)is true (2) is false.

(C) Both (1) and (2) are true.

(D) Both (1) and (2) are false.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List - I List - II
(a) Literal (i) Reading in
comprehension order to
understand,
remember
and recall the
information
especially
contained in
the passage.
(b) Inferential (i) Reading in
comprehension order to find
information
which is not
explicitly
stated in a
passage.
(¢) Evaluation (iii) Reading  in
comprehension order to
compare
information
in a passage
with the
reader’s own
language

(d) Appreciative  (iv) Reading in

comprehension order to gain
emotional
response.
Codes :
@ (b () (@
A @ Gy @G o aGv)

B) @Gv) @) @@ (i)

©) @G @ @@ (@Gv)

D) Gv) @ @) (i)
D-31-10



39. o=@ YREAT USd H Eal
Teeel &9 o QAT o TR €9 H Tgr
fopart ST FeheT € |
(A) TUCHE e
(B) @ e
(C) T e
(D) EUEA 3R WHERT

40. YRAE IUMEEM W ORI @en ¥ ud
I AT St &

(A) hices, TR, sEe, IRIAE

(B) ST, hiees, Sias, YRME

(C) sfoe, 9RUE, SiRgl-uvEE,
INEERIECL

(D) zfeTeh, arfeesh, Sfae, Her

41. fafv= et & < domor, foey w0 9
T Tl o S S AT, A
37T TS 9 3T &, FeeATdl &

(A) STRTE JUwT
(B) i gHe guwor
(C)  TNTS THWOT
(D) SHEGUR

42. G ATI-HHTST % foHT ATB-HRRT

3TTShH AT &
(A) el iaeaeh
(B) v
(C) QTHIfSTe siett
(D) &= et
43. ngqﬁﬂﬁf@ﬁﬁmwﬁé 3T 3G A
() GFHCHES Ug
(i) AR 7 Ugia
(iii) FUYO-3UTH
(iv) STHOT-SFEE Ui
HS:
@ (b ) (@)
A @) @y (@) (@1v)
B) av) @Gy @ (i)
© @Gu) ) @  (@1v)
D) @Gv) G Gi) @)
D-31-10
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44.

45.

e (1) : AR H Hiaum 3
AL UIS ST T & 31 T
FAE |

afpre (2) : Tl W § uEr
STAYROMY 3TE &, ST FERT o H =
2 |

(A) (1) 3T 3R (2) T |

(B) (1) A& 3R (2) 379A |

(C) (1)3IARQ)THTIE |

(D) (1) 3R (2) T EAE |

T - IAA AR g - I H T
TRl ¥ e it SR A 5 T e

¥ & W g
e - 11

g -1
(a) WMk ety (i) fodr e,
foomeR TRt

Teer ¥ fAfed
AT, B TS,
AT FA dAl
TR0 A &
TR U |

(i) vt uewr #
W w9
AHed g
Pl ETE RS AR
TS |

(iii) fret  wier  H
fAfed = =i
eE ST
AT I oA A
&q foram e |

(iv) SraTeHs fafshar
Pl ETE RS AR
TS |

(b) FrHf s

(c) HeAH e

(d) SFREIHS
Y

HS :
@ ® (© @
Ay @ @ (> @Gv)

B) @Gv) @) @ aGi)
©) @) @@ G (@{v)
O Gv)y @ @) (i)
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46.

47.

48.

A language test that
knowledge of Individual language
items, such as those of grammar with
different sections as tenses, adverbs

measures

and prepositions is

(A) Discrete point test
(B) Diagnostic test
(C) Aptitude test

(D) Achievement test

An error which results from faulty or
partial learning of the target language
is

(A) interlingual error
(B) intralingual error
(C) lapses

(D) tongue slips

Assertion (1) : In “contrastive
linguistics” a comparison of the
linguistic ~ system of two
languages is made on the
assumption that the main
difficulties in learning a new
language are caused by
interference from the first

language.

Assertion (2) : CA assumes that
these difficulties can be
predicted and reduced.

(A) (1)is false, (2) is true.
(B) (1)istrue, (2) is false.
(C) Both (1) and (2) are true.
(D) Both (1) and (2) are false.

49.

50.

Assertion (1) : A process through
which dialect differences become
reduced is “dialect levelling”.

Assertion (2)
which dialect differences are

: A process through

enhanced is “dialect levelling”.
(A) (1)is false, (2) is true.
(B) (1)istrue, (2) is false.
(C) Both (1) and (2) are false.
(D) Both (1) and (2) are true.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List - I1I
(a) Sensorimotor (i) Development
stage of symbolic
function

(b) Pre-operation (ii) Environmental
stage understanding

(c¢) Concrete (i11) Understanding

operation abstract
stage concepts
(d) Formal (iv) Mental
operation operation
stage
Codes :

(@ ) (© (@
A @® G 3)  3Gv)
B) @G @ @) 3Gv)
©) @) Gv) G (@)
D) @Gv) @G @ (i)



46.

47.

48.

TET IT-q3ieor, S rer-foeiy s mey,
ST b SATHOT ol AT T fafe= et e

(A) fewniz uige wiem
(B) TTemTcHes wiemor
(C) e wteor
(D) 3t qireqor

&g WTST T A ik 9 31T AT
Y Y G H 31 Jfe FHeard &

(A)  SFR-TTE e
(B) 3R I
(C) =wiaam

(D) TTea Taer

At (1) : “=AfeRenl o fosmr & <t
AT ht W ST ht o
T SHH W H S § foh fomdt off
TS A B GREH H TN T
HISAEAT JIH W o HROT 3T
YA ¥ 3 BA & |

e (2) : Al W fome
@A € % 3 Foa=ar w

AT AR ST ekl § AT T
9 TR ST T & |

(A) (1) 3@TE, (2)TTE |
(B) (1)FAE, (2) IEAT |
(©) (1) 3R Q)IATAE |
(D) (1) 3R (2) I A E |

49.

50.

AR (1) : U UHT Uishan STaeh gRT
AT 9 w9 & 8, a8 “siel
HAEIEHOT” ShEeATdl € |

ATPY (2) : TH UG Uiehan STaeh 3R
AT 9% §¢ S @, 9 el

THERIHT”

FEAN & |
(A) (1) FEIE, (2) FFE |

(ERREAR i)

B) (1)TAE, (2) FFAE |
(C) (1) 3R (2) ST 3 AT |
D) (1) A Q)M E=IE |

T - IH AR w g - I F & .

el & WY HeA™ wiftse 3R A fgu T

IS 3 LN T Fel SR GHT
g -1 T - 11

(a) HORIRE ORGIEIRED
Ecra T T faenrd

(b) e-srETe R CHE
AT

(c) T T5ha ST (idi) ST Fea-ae

(d) AT (iv) aFrge fsmar
TTeAA 3{I&7

HiS :

(@ () (© (@
A ©H @ (@) 3Gv)
B) @G @ @) 3Gv)
©) @) Gv) G (@)
D) Gv) @G @ (i)
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